H & 0l & AHS B Ml A

M- B SRASH) - HRAR - B2 of v e HIDE2
| 3,987,169 1,429,002 558, 167
= 74,014
- 3,913,155
HH2LZH(LAXHD) 279,363 274,183 5,180
olA2HH(2IR X HD) 238,640 233,203 5,437
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S LR =D
Hu: JRANEMEY AHIA
ol AEEE MblA S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
T 2,980,681
HH AHIA P 118,283 111,94 6,289
= 6,521
3 111,762
SPEABHTRAIAL(KRS) 2 3,813 36,691 122
201 Yere | 3,813 36,691 122
01 Al 22| 1,800 1,800 0
OZUEEdy 48 25X
300, 0002125 +344 Xt 1,800
02 2Z29H| 3,013 34,891 122
ORSASEHZLAAL X 24| 32,609
—PSAUSEFEA
96,800,002 *8% 7,744
—AE2IX 34,100,0002+8% 2,728
—EHQI A AE H/W 16,500, 0002 8% 1,320
—BHQIAIAE! S/W 12,188,0002 *16% 1,951
— QI A 7,700,002 %8% 616
—SHNMARK 2,750,002 +8% 220
— 2242 (0BIS 50,000,0002 *15% 7,500
—c| ZE E(0z-Xstudio) 275,000 23 550
— 22 REEE (GeoDT) 369,600 23| 740
—NAHE S2HAIX (MapPr ime)
77,000,00021%12% 9,240
OEXIOIS(ZANAEEM & XIHPS Y
A 28 158,550 2% 318
OSSAUESZRAIAL HOIFE 2535t SN
CHEES 73,8002+ 1224 2,086
CHO! XIS AHIA RIB 43,478 38,809 4,669
201 Yere | 43,478 38,809 4,669
01 Al222l| 42,328 37,659 4,669
OXIHII=E &X (126, 0009 %40 ) 1.1 5,544
OXHHR CIALFE AAL eI
200,002 %25 400
O/ZAXY SZIFH g2+ 22
(240, 0008 *3&H+11, 000245748 ) 1.1 7,738
OR/TH RSASEHZLAAE H2HH =
INEEUDNEE e
(47000244241, 00021 %0.05) «441Z X *1 . 1 28,646
02 2229 1,150 1,150 0
OX=AND geasll S|
287 50024 x42 )| 1,150
HEZAIXIOE ZA 24,271 23,405 866
201 LBt | 24,271 23,406 866
01 Al 22| 24,271 23,406 866
OggtagH| 21,121
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QIR X =t

M ZRINMMT MHIA 7E
ol NEEE AHlA 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HEZAMRt BE+2 18,021
=Pk 45,8002 *16, 0002 XI /37+80% 15,845
- =AE 45,8003 1002 X|+0.5+0.3 687
- A= 45,8003 x50& X1%0.5+0.3 344
- 0128 45,8002 502 XI*0.5 1,145
—HEZAMRt Z2ESNE
2,200,000& 2,200
—SSLIIERASAIRIAE 2otz ME
300,0002+33] 900
O=g+y 3,150
—REMIABAIAIAE BALE
70,0002 x9H +53] 3,150
HERES &8 & Yo 7,200 7,200
201 Let=Ehl 7,200 7,200
01 AtR2t2|HI 7,200 7,200
Odgt==d| 6,400
—IHLEES HLHIE &4F2 2|
1,000,000& 224 2,000
—SSAEL 2880t ==&
(1,000,000 +224%2J0 7| 2)*1 .1 4,400
Oo=g=¢ 800
—HERESSHE IS FH+E
100,000 4 & »23] 800
HEZARDIE ZAF (BX) 6.521 5,889 632
= 6,521
201 fer=3| 6,221 5,589 632
= 6.221
01 At2teltl 6,221 5,589 632
Odgt+==H| 5,921
—HESAIXIL BE+==2
45,8002 +16,0002! XI/37+20% 3,962
= 3,962
—IHESAIXDL HoteH = 1,959
-3 1,759,000& 1,759
= 1,759
== 200,000 200
= 200
OSZ20HAlHI 300,000 300
= 300
202 04l 300 300 0
= 300
01 2LHA b 300 300 0
OINESAIXIOL AL 044 300,000& 300
= 300
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e XIS THZ AL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KIETHZAF 2,898,732 439,470 2,454,262
= 24,813
- 2,868,919
KETHZEALALY =& 2,868,919 344,803 2,524,116
201 fer23| 68,919 44,803 24,116
01 AtR2t2|HI 66,109 44,803 21,306
El=last =l 57,651
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NETHEAR A S22}
5,000& 2005 1,000
- AEMEAL MY EEES
10,0002 *200H 2,000
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= 1,181
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= 1,181
403 X SHMSAH=01H 23,632 0 23,632
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201 er=23y| 25,692 11,192 14,500
01 AtR2t2|HI 25,500 11,000 14,500
OzH=4 s2= ¥ UsSKHE HMH
5,000,000& 5,000
Ozdstiss s 7 15,0002 %1, 300K 19,500
Oo=2g+¢ 1,000
—F2Y2Es BN8E
100,000 5 & »23] 1,000
02 s3=gHl 192 192 0
OAOHEKAIS S4l8| 16,0002« 12& 192
308 XtXIEMSO0IH 82,455 36,743 45,712
11 SIS0 EAS A 82,455 36,743 45,712
OgHM=z=a 715 & FAFE) =2k |2
cIAH 26,095,000& 26,095
OKAIS XM= & GIS S/W |XI2tel
38, 186,000 38,186
OFA2ZEANEES 7N LHEA /S
18,174,000& 18,174
401 AIEHIZL S0 22,000 20,000 2,000
01 Al&H| 22,000 20,000 2,000
O=2d=2AIE= &1 & 2 22,000
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—F2d2ANE=E =7A2L
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